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LLUTY4YHUI IHTENEKT

“Artificial intelligence (Al) is an area of computer science that emphasizes the
creation of intelligent machines that work and reacts like humans.”

https://levity.ai/blog/general-ai-vs-narrow-ai

https://towardsdatascience.com/what-is-explainable-ai-xai-afc56938d513 ) Operations
Research

https://arxiv.org/search/?query=Al%3A+A+Survey+of+the+State+of+t Perceiving

he+Art&searchtype=all&abstracts=show&order=-announced date _fir sihd Acting

st&size=50 Problem
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OcobnunBOCTi 3aCTOCYyBaHHA HEMPOHHUX MEpPEX

1. HasBHICTb BENUKOI KifIbKOCTI BIOKPUTUX AaHUX (TabnnyHmnx Ta
MYIETUMELINHNX)

2. ObumncntoBanbHi moxnueocTi (GPU, TPU)

3. HagaBHICTb BENUKOI KiNIbKOCTI BiAKpUTUX BibnioTek Ta openmMBOpPKIB (Kapkacis
po3pobkun) (Python, Java)



TN HENDOHHUX MeDeX

Data Science Methods
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http://pzs.dstu.dp.ua/DataMining/
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Activation output

hy = o(sy)

Activation function
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curHany Ha Bxoai

lnpuz = a,
Onpuz < a.

LUTY4YHMIN HENPOH (NepuenTpoH) popmye BUXIOHUW CUrHAN B 3arieXXHOCTI Bif
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http://www.asimovinstitute.org/neural-network-zoo/



DyHKUIT akTMBaUil




HaB4YaHHA HEUPOHHUX MepeXx

Wij = Wi+ delta_wi;

[Mpasuno e6ba: npu
OJHOYacCHIN akTueaLil
ABOX HEMPOHIB Bara
IXHbOro 3B'A3KY 3pOCTae

age ed employ  address income debtinc  creddebt  othdebt
41 3 17 12 176 93 11.359 5.009
27 1 10 6 3 173 1.362 4,001
40 1 15 14 55 55 0.856 2169
41 1 15 14 120 29 2,659 0.821
24 2 2 0 28 173 1.787 3.057
41 2 5 5 25 10.2 0.393 2157
39 1 20 9 67 30.6 3.834 16.668
43 1 12 1n 38 36 0.129 1239
24 1 3 4 19 244 1.358 3278
36 1 0 13 25 19.7 2778 2,147
age ed employ  address  income debtinc  creddebt  othdebt
37 2 16 10 130 93 10.23 EW3 )
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HaB4yaHHA HEUPOHH
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HaB4YyaHHA HEMPOHHUX MepeX
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https://colab.research.gooqgle.com/drive/1Smr751jgNi4M4gHxkPiINAZB6KSS7TzcFT?usp=sharing
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dpenmBopk Keras

.add(Dr opout
.add(Dense(
.add(Dropout

input_dim =4 , activation = activation))
activation = activation))

activation = activation))

4))

.add(Dense(5, activation = activation))
.add(Dense(3,kernel_initializer=kernel_initializer,
bias_initializer=bias_initializer, activation

optimizer = optimizers.Nadam(lr=alpha_zero, beta_1=08.9, beta_2=0
tp;llCﬂ None, schedule deca,— )
R sentropy”, optimizer = optimizer,

model.compile(loss = "cat

metrics uracy ])
history = model.fit(irisX train, irisY_train, batch_size = batch size

epochs = nb_epoch, verbose=2, validation_data = (irisX_ test,

score = model.evaluate(irisX test, irisY_test,verbose = 9)

print("score fc
model.summary

3abesneyye MOXNMUBICTbL OyayBaTU HEMPOHHY MEPEXY MO Luapax.

is ", score[l])
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[ InepnapamMmeTpun HENPOHHUX MepeX

KinbKicTb LWapiB.

KinibKicTb HEMPOHIB B LUapax.
Bug pyHKUiN akTnBauin

Bua ontumiszaTtopa

Twnn HENMPOHHOT MepeXi

Tun wapy
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[1na BU3HaA4YEeHHA HENPOHHOI MepeXi HeObXIAHO

BuaHauntn Tmn Henmpomepexi
BusHaunTu rinepnapameTpu
BusHaunTn qoyHKUito BTpaT

[ligrotyBatn aaHi
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[Tpuknagu

https://www.kagale.com/code/avk256/neural-network-approach-to-iris-dataset
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3anada No1

BapiaHT 1.
Poarnsgaetbca oauH
LUTYYHUN HENpPOH. Bara
3B'a3ky w:=0.3; 3cyB
0:=0.2. OyHKUiA
akTueauii - RelLu. Buxia
HenpoHy - 0.38.
BuaHaunTn BXigHUM
CUTHan HEMPOHY.

BapiaHT 2.
Po3rnapaeTbca oguH
LUTYYHUIA HEUPOH. BXxia
HenpoHy 1.2; Bara 38’

a3ky w:=0.4; 3cyB b:=0.1.
PyHKUiA akTMBaUil - tanh.

Bu3Hauyntu BuxigHum
CUrHas HEUpPOHY.

BapiaHT 3.
PoarnsgaeTbcs oanH
LUTYYHUN HENpPOH. Bxig
HeupoHy 2.3. Buxig
HeUpoHy 1. PyHKLIS
akTmeauii - Heaviside
step function. Ake
3Ha4yeHHs Baru Ta 3cyBy
€ JonyCTUMUM?
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